20195 7R128 (&) sEEHE3H

EANRAROBESIFRT — 2 N—ZABISH—F
1

ol 7 /X X8 B6 YTR—MK ‘(ﬂi} W ‘Béiﬂélasﬁ] - | # @) 16000 ®

[AE4] 1% :290,000” ~ 23#%:81,000M ~ 3#&:46,000 ™  43#&:29,000 M 5 7#&:17,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

N BEEE T 4 i}‘;"% 1:(4_4).2 1-1-1-1 |139.8| — | 1 | 440 gggg (BHE)
QNRNTT BiEeIAUE 0| s

ol7l7|7v—d—1>% # 5 ;ﬁék 1:(455).2 4-4-4-3 |40.6| — | 9 | 456 iﬁﬁ%i& (BHE)
Q:TUF—y BEavFEIN S e

N - NERETS P2 E #H 6 %ﬁffi (12415/27> 3-3-2-2 |#1.2| — | 4 | 535 gé;g@% (B&E)
RRINYELATT BT O s =5y 0

al1lq| 717 181> # 5 ﬁhgﬁé 1(/@)7 6-6-6-5 [39.7| — | 5 | 432 zzgﬁiﬁ(%aé)
RRFLA-NE BESTTE @) e oLy k7r—n

5lglg | NI>TI8yvar i 5 is%ﬁgé% (11:416/.20) 5-5-5-4 | 41.0| — 3 495 @;éé; (BHE)
RN-VISL BHLLTI—> 0 gpan sm7 -1

6 5 ZY—ZTYL 4 4 4 gis_ﬂg?ﬁﬁ (11:416/.23) 10-10-8-8 | 38.6 | — 2 459 g!g%g(ﬁ(;?)
RRXHTLA BAXAY2TY— 3 | pseseanss

\ = 4 8 | DOEEER— 1:47.3 9-8-9-9 |39.5| — 8 7 | TBE (BEE)

71810 LE>T 14— 54.0 (5) (0) *Zﬁ%aﬂl
RigAFT v b BT RRAYTI— b SZENS

8 3 Fo o EY R 4 5 sﬁg%fﬂ 1:&8).2 7-7-7-1 | 41.6| — 6 452 gigg (BEE)
Rivr—IUTL B:JO-UFIO-X QA Fra ]

9l7/8 T1U=7 # 6 | ML 1482 | 80100 | 309) — | 10| 58 zﬁﬁé (BEE)
QAT RTIN BE-—ZLT5 40 kx4 K

t0]s|5| 3757753 R T N T R L .
R:24—-)>JA—-X B:3x%/ 77 0— (=1 R R

® 1—F—@EBIERL

13=2F= 4,5,6,7,9,1,3,8,10,2

2a=5F= 4,5,6,7,9,1,3,10,8,2

3a—F— |[4,(56),7,9,1,3,2,10,8

40 —F— 4,6,7,9,1,5,3,2,10,8

[ N5

BB 4 1400 | | 74 K 4-7 1,180 | | # = 4-7 1,610 | | 3:&E 4-6-7 6,720M

B 4 120/ 4-6 250/ | | 5§ Z 4-7 3,670/ | | 3EH 4-7-6 27,150

7 430 6-7 3,530 B E 4-7 3,510M
6 230

ABICOVWTRDTEEERROODE. TR LIV,




